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* Please check that this question paper contains 9 printed pages + 3 Maps.

® Code number given on the right hand side of the question paper should be written on the
Litle page of the answer-book by the candidate.

® Please check that this question paper contains 30 questions,

e Please write down the serial number of the guestion before attempting it.
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SOCIAL SCIENCE
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Time allowed : 8 hours Maximum Marks : 80
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General Instructions :
(it There are 30 questions in all. All questions are compulsory.
(i) Marks for each gquestion are indicated against the question.
(iri)  Questions fram serial number I to 10 are I-mark questions, Answer of these guestions
may be from one word (o one sentence.

(iv) Questions from serial number 11 to 18 are 3-marks questions. Answer of these
questions should not exeeed 80 words cuch.

() Questions from serial number 19 to 28 are 4-marks questions. Answer of these
questions should not exceed 100 words each,

(vi)  Questions number 29 and 30 are map questions. Attach the maps inside your answer
: boak.

AT 739 :
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1. What is the main gim of Nehru Yuva Kendra 7 1
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H.

i

10,

11.

L=
+

Name the two most important cereal crops of India.
9RE I T FAE Fewqvl W SEe $ AW 995w |
Which agency works for our safety at the State level during disasters ? 1

GRS F AT FAH T 0 G F R’ O w0 W s w2 )

According o the World Bank, classify the countries of the waorld into two groups Ir'ml
the basis of per capita annual income. e

ferea e o s St s s o F omeR R fwE & S A 4wt A
Define. the term ‘Feminist'. |
E v ot S

What is the meaning of ‘patriarchal’ society ? |
o aae & oaar a1 8 7

Define the term ‘Democratic Reform’, 1
Wi R Y A g g |

Classily munufacturing industries into two groups on the basis of source of raw rnumri?ls]

usud, =]
- = &, LY H‘ 2

WA Fe A & e % amen i s @ il § aiim #ifw

Define the term ‘dam’, 1

|

What was the notion of S8waraj for plantation workers in Assam ? l

SHA H amEr HeRl o e @ sEewon g2 g 2

Read the passage given below and answer the questions that follow : L+2=4
On 6 January 1921, the police in United Provinces fired at peasants near

Rae Bareli, Jawaharlal Nehru wanted to go to the place of firing, but was stopped by

the police. Agitated and angry, Nehru addressed the peasants who gathered around
him. Thig is how he later described the meeting :

‘They behaved as brave men, calm and unruffled in the face of danger, T do
not know how they felt but T know what my feelings were. For a moment my blood
was up, non-viclence was almost forgotten — but for a moment only, The thought of the
great: leader, who by God's goodness has been sent fo lead us to yictory, came to me,
and | saw the kisans seated and standing near me, less excited, more peaceful than |
was — and the moment of weakness passed. I spoke to them in all humility on
non-violence — 1 needed the lesson more than they — and they heeded me and
peacefully dispersed.

{11.1} What is the source of the above passage 7
(11.2)  What were Nehru's feelings and how did he change them 7
A9 R T agee @ dfew it 3w A9 R T s 3 sw ffau |

6 ST 1921 F Hgw W@ A U9 Well F UG gom T B W A
AEE | AT e SeARAS & A S Aed A, ST gem 3 3 05 R )
aﬁﬁﬁaﬂtgﬁ}ﬁﬁaﬁﬁaﬁm~ﬂm@§mﬁfﬁifﬁﬂﬂmm|mﬁﬁ
& AR H IR g 4
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LGl T = e e T o = 10 oo e Tl L
R AT % fe g3 g a7 Tw SN B omn fR W swww 43 ik @ feam W
d F7 I, B F FE w9 4 | ogdad & 9 go7 g o | 53 gl fm
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wrEl s wifn & we oM
(11.1) 39& 3=r e § Iga fFg T & 2
(L2 E® I sl s 4 3R 39 fEg yew ofed e 2

Note : Below are given three groups — A, B and C for questions numbeér 12 and 13, Select
any one group for wnswering theie fwo questions

Pe ;w2 Sk 1 % Fre A9 %, @ s 7 A e fw o & 1 s3 g
# g & fow fFH o wqE F 6 gh
GROUP A
RS
12, How had a serigg of inventions in the eighteenth century increased the efficiency of each
#lep of the production process in cotton textile industry ? Explain.

2K o 1 e e 1 s 2 = = B = B T o B R T e e
H A 1 Y uwR aeEn ?omp SifE |

13, BExplain the three types of Qows within the international economic exchanges during

1815—= 1914, dx1=3
1815 1014 & "&4 F=eE s &g 0 99 @R & 59w & |=e e |
GROUP B
e @
12, Why iz Mumbai (Bombay) known as the dty of dreams 7 Give three reasons. 3x1=3
g (TEE) B W F VR @ 9 82 dF e 9 |
18. Who were i.h_g jobbers ? Explain their functions. 1+2=4
S FH 4 7 IR FET F W e |
GROUP C
HEE T

12. How is urban development directly related to the cost of ecology and enviromment ?
Explain, giving examples of industrial cities of England in the nineteenth century,

i e db-a W wiRfEfi SR e @ Ee 3 58 R s 8 7 S
el & e % AU T F IR F w9 § W 68U WY S |

18. Define the term ‘trade surplus’. How was the income received from trade surplus with

India used by Britain 7 1+2=3

‘s g’ yEE @ g S | YR & HY NN SiHew # e s & e
[ weIC YA Sl o1 ?
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14. Study the map given below showing major seaports and international airports of Im:im

carefully and answer the questions that follow : 1 —+I ——3
Y : : ! ! l | T
68°E 72’ 76° BP £ e 920 i
36 PR INDIA
L"-.. —, 16"N
,E‘ .- =) MAJOR SEAPORTS AND
PAKISTAN Na INTERNATIONAL AIRPORTS
. t
Fa, Tl et
L’;r Amri!lnat 1 AT~
4 ,._J‘J-, So CHINA
IR o T s (TIBET)
T ol T T e e
F . ’ i - Ul .
f.-" =" s ﬂmruﬂf)}r{q{nm‘md . 54“4; T f'l PR ns i g = ﬂff
2 i O a--@iﬂm +++++ “‘
\ :... ar %IT- 2 ;Ilfu'*r"v" E : I
o e S e Y TR R, amﬁLADES 7
i .t pa W
. h,_ it R I . P
ﬁ _"'—:“.“ ﬁﬁﬁ-_j":_ . i E{. .................. '!“ Ji -";‘ r' :r,rﬂﬂ.ll‘!‘ I:I.f E.IIII'FI:U'I'
-". 3 __-'."f..-‘h..r rrrrr . :_.‘ ‘17- doraisd s,
=20 I:.-' - '_:‘ y war
B 3 !
Mumbiai
ARABIAN
514
=15
Marmagao
& SEAPORTS
* INTERNATIONAL AIRPOATS .
L a0 New Mangalore :g
.t . ﬁﬁi’urt Blalr
Lﬂks.hal:leEp Kochi Andaman & MIE!:I{EI‘ |slands
o lIndia) IN01A) o
Tiruvananta “ﬂ'-'l'-’ﬂ}" 0 0 400 ‘600km B Pl S
R:E INEAN 7?" JUEAN B-I\" " BF‘ 92°E G,GD
1

(14.1) Name three states which have major seaports but do not have international airparts

ag shown in the map given above.
(14.2)
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Write the names of the major seaports of these states.
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Note :  The following question is for the Blind Candidates only in liew of Q. No, 14.

WE (e Hv dae giEdiT SO & 0 T g6 14 % W W E

15.

16,

17,

18,

19,

20,

21,

(14.1) Name the northernmost and southernmost international airports of India.

114.2) Name the easternmost and westernmost major seaports of India along with their
slates, 142=3

(14.0) G & Ha8 300 oa1 F98 v siaEa A v % T e |

(14.2) "R & §98 Y6 9 599 Ul g%y e w5 oA 39 T 5 oam
fefa |

Explain any three protection measures for the buildings in flood-prone areas. 3x1=3

AE AT S & W F e dm 9 8 e S |

How does demoeracy stand much superior to any other form of government in prmnu}lng

dignity and freedom of the individual ? Explain with suitable examples, 1= ].?=.‘!

e @ o sit el & Siewra # diwdtm ogEer G s w8

yEr s 4w @ 7 3nge 3del ofs o FifEn )

Analyse the functions of consumer protection councils. ]

IR e SfmEl & et @ e dif |

Deseribe any three ndvantages of having alternative communication system during any

major dignater, Hxl=l

fadl &g anver & <od dsfees Han Tl F R e @ @ s S |

HExplain liberalism in political and economic fields prevailing in Europe in the nineteenth

centuny, 2254
O

Explain the eontribution made by the French in the development of agriculture in Vietnam. 4

S T H g s S anfie A = IeRan e &) e S |
#HAgaEr
ST 2 foaaam # $f 5 fawg & fo fee T dnes st smen i |

Why is ‘tax’ on imports known as a trade barrier ? Why did the Indian Government M pogs

barriers to foreign trade and [oreign investments after Independence ? Give three reasons,
1+d=4

ST W H H SR FEGE S B9 H = G S 8 2 e % 9 e TR

e = war faRef fraen w ey =25 w2 @ S dfan |

Study the diagram given below and answer the questions that follow @ T4+1+82=4

Sources of Credit for Rural
Households in India in 2003

1%
Landlords <

Cooperative
Societios

Commercial

Banks

3212 6



(21,1} Which are the two major sources of eredit for rural households in India 7

:21.2} Which one of them is the most dominant source of credit for rural Enuaehuids ? \

(21.3)  Why is it the most dominant source of credit 7 Cive two reasons.
A U T eE w5 s i sl s ¥ TR R T sei ¥ 3w Afw

ad 2008 § WWE W AmAOT
gftaml & 9@ & |

(21.1) e H A i & fo e & 9 we e aes f 2
(21.2) T § i SfEd & oare & wEd g ae s 2
(213) W& WG F gAY X9 A =R 22 Fwror G |

Note :  The following question is for the Blind Candidates only in lieu of Q. No. 21,

e :

22.

23.

[reIfeiiEs 97 @ giee Taanea & fau y77 969 21 & = w

What are the two main groups of eredit for rural households in India ? State two
[eatures ol cach. oanL

T A A e & W F e o vE e SR ) s 9 8 s
F Feeid i |

Which is the next major source of energy after coal, in India ? Deseribe any three
advantages of it. 14+3=4

WA W FEE & AR EU §9 W@ IS % 66 A 3 7 S§ e dW o
& vl e |

“Some people conclude that politics and social divisions should not be allowed to mix"
Support this idea with two arguments. D404
‘T W W e Pewn € B e s amtes e @ g wd ee
HiEw 1”7 3H frer & 2 a9t @ weEe ¥ e ik )
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26,

26,

27.

28,

28,

Why is there a lack of internal democracy within the political parties in India ? Explain
with examples, 4

URG A TeinE g % 9 G diwdy 5 FA 4 & 7 sew e ww
it |

Desgribe in brief the language policy of India, 4

W & A i & oSy F gl &

Classify resources on the basis of the status of development into four groups. Explain the
main features of each group. 24-2=d

FHA F R S R F SR WA i ¥ s | g ot @ e s
w e e |

How does tertiary sector help in the development of primary and secondary sectors ?
Explain with examples. dx1=d

qitas &p G s waf SR fdas e & B v s ¢ 7 sow
wfea v wifsm | |

How were ideas and information written before the age of print in India ? How did the
printing technique begin in India ? Explain, 242=4

OR

How did the colonial administrators find vernaculir novels to be a valuable source of
information on native life and customs ? Explain with examples, Ax1=4

T T W e WRA A g R fem 39 @ Wm 2 2w § wgor e @
9 59 TR 9 g3 7 e wieY |

Fgar
mﬁﬁﬁﬂfﬁmﬁfﬂﬁ%ﬁﬂﬁfﬁ%ﬁﬁ#aﬂtﬂhﬁmﬁﬂgﬁmma@
| 8 YFR T FF 2 TR Gew WE S |

(i}  On the given political eutline map of India ton page 10), a place is shown by
number 1, which was a famous large-scale industrial region on the eastern coast of
the country in 1931 Identify and write the correct name of this place on the line
drawn on the map. : 1

(i1} On the same map of India (on page 10), shade and name the state where the
Champaran movement of Indigo planters started. 1

Gy [ TE SRE F TSAfes WRREET (38 10 W) ¥ e 150 99 9E 9
fe@mar 7 & S 5 1031 § 30 F T o W wam 72t w S A
9 | T @H S eEE ST S SEE 98 AW AEE W @R 7t W
fAfET |

(i) W F T AR (38 10 W) ¥ W T A oEife ST ek swm A
fefaw =@l A9 # @t 5 A e 3 9 siees e B g |
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30. On the given palitical outline map of India (on page 11), are shown four geographical
teatures A, B, C and D. Identify these features with the help of the map key and write

their correct names on the line marked against each in the map. 4 ]=4
OR

On the given political outline map of India (on page 12), locate and label the following

features : dxl=4

(1)  Tehr Dam

(i)’ Korba Thermal Power Plant
(iii) Coimbatore — Cotton Textile Industry

(iv)  Pune — Software Technological Park

few o wre & oefae EemEtE (v W) § =R e @ A, B, ¢ sl
o 1wt § d € o W ower o ol W b st R 3
Sed & w4 o Y w3 wa A ffan

e
ﬁqmm%mﬁmm—mﬂﬁa(wmmﬁﬁwﬁmﬂwﬁaﬁﬁwﬁFmars'rz
ﬁﬁﬂ%?ﬁﬁﬁﬂt{: :

(i) Sud &y

(i) @E v v g9

(i) @A - gl = g
tiy) o - WA SR o

Note :  The following question is for the Blind Candidates only in licw of Q. Nuo. 29 and
30

A P YT @0 GEET ehgEEt % fow svr dE 20 S g0 % e w

i)

(i) Name the important industrial centre of south India in 1931,

{ii)  Name the state where Indigo planters movement was started.

(ifi) In which state is Teliri Dam located ?

{iv} Name the state where Korba thermal power plant is located.

(v)  Name the state where Coimbatore is located.

(vi] Infwhich state is Pune located ? Bxl=f

() T 1931 7 /v AR F wwEg i = W AW e |

(if) -mmmmaﬁﬁqaﬁﬁﬁaﬁ@ﬁﬁﬁa@rﬁmﬁaﬂaiﬁmq&gaﬂ
qar |

(i) 2& Ay feg Tsw § fram 2 2

tv) 3§ U5 o AW Ta5C 588 SwE @ ufs 997 Rgg 2

(v)  Fawey By oS § figg & 2

(vi) U1 E s o e # 2
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For gueetion no. 29 YT . 20 & fem

Outline Map of India (Political)
WITH &1 TET- WA (TI9TTe)
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For question no. 30 T H. 30 F fem

Outline Map of India (Politieal)
WA W TE-HHE (i)

Key
el

Soil type
Hol WhE

Iron ore field o
e Y& 57 ﬁ
Coal field

=HiETl &3
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= SO T P - - A
RSN
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For question no. 30 OR U9 H. a0 HEET = fﬂE

Outline Map of India (Political)
WA &1 T@T-0HfeE (TeTe)
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